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Odgolade s =+ 200,000& »3H 600
02 =224l 2,152 2,581 A 429
OMEQAXE SFTU 1,110 %1002 =121 & 1,332
OMEI AR el 700
OME0ld MEXM3RE 10,0002 «1CH*12I0 & 120
202 04l 5,400 4,100 1,300
01 = LH o4 1l 5,400 4,100 1,300
OMEBH 42X 5,400
206 = Hl 17,000 20,000 A 3,000
01 =8l 17,000 20,000 A 3,000
OMEoIAx™elE Rt 17,000
— &I 128 12,000
— 2N 103 5,000
=olotd &2 136,220 215,680 AT9,460
Metotd &2 136,220 215,680 AT9,460
T MEOtM CCTV &X1 % 22l 136,220 215,680 AT9,460
201 Let24d] 33,220 35,680 A 2,460
02 232gl 33,220 35,680 A 2,460
OxXge=g CCTV &I
22,0003 *2000 21204 & 5,280
OXEE=E TV SHE=
95,0003 *210 & *12JH & 23,940
Oxge=g TV A2+ 4,000
402 2I2H X201 M 63,000 90,000 A 27,000
01 2I2F 2 A B (KM ) 63,000 90,000 A 27,000
OsZ0tS N/ALYEHMT= CCTV £ XA 63,000
—sZE0tS ANALHAH A= CCTV A REX
3,000,000 = 10CH 30,000
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S A oFA I LDt
& ZoloE £
CHelr MEOIN €9 CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %E& HRE2
—sSsE0I2 NAYEMHF2S CCTV =& X
1,100,000& *30CH 33,000
405 Ko SHI 40,000 90,000 A 50,000
01 XA 2 ZF S H| 40,000 90,000 A 50,000
OFUMEOAN XIS CCTV & X 40,000
— FOIMEON AFWESE CCTV ARAX
20,000, 000 =2CH 40,000
HAHSHAY (HE TH L) 26,825 28,865 N 2,040
JlE&dl 26,825 28,865 N 2,040
Jl 23l 26,825 28,865 N 2,040
201 Bt 14,945 15,785 A 840
01 AP 22| H| 13,385 13,385 0
olgxs= 2,280
— = 2X 15,000 45 «12& 720
— Xl gtXl 10,000 *13=+12& 1,560
O=AEXN 7 20,9003 6 A %128 1,505
OZc=2AD] dUHE 700,000 x12& 8,400
OARA 228 F2¢ 100,000& 12& 1,200
02 2%l 1,560 2,400 A 840
Odszle=2 130,000& ~12& 1,560
202 o4l 7,680 7,680 0
01 2L I 7,680 7,680 0
OOt Xz 7,680
203 €2 F=&d| 4,200 4,200 0
04 EANSIE LR F=XH| 4,200 4,200 0
ORI YR 350,000 x12& 4,200
THEE S (OHM THLHDH) 200,000 105,239 94,761
WEHN K= 200,000 0 200,000
28 200,000 0 200,000
702 1282 200,000 0 200,000
MoIsEE2 200,000 0 200,000
OMte 2 &2 200,000




